1. The LCM of 2/9, 4/15 & 1/30 is how many times the HCF of 7/15, 21/40 & 14/15?
1. 160/7
2. 7/160
3. 120/7
4. 90/7
2. 0.0874 + 1.236 - 0.0012 + ? = 1.489
1. 0.1568
2. 0.1578
3. -0.1668
4. 0.1658
3. 30% of 300 - 40% of 400 + 50% of 500 = ?
1. 1800
2. 180
3. 18
4. 18000
4. If 243 x 162 = 39366, then 3936.600 ÷ 0.243 = ?
1. 1620
2. 16200
3. 162
4. 162000
5. 114.01 + 222.01 + ? = 400
1. 63.98
2. 43.78
3. 736.02
4. -53.98
6. The difference between the circumference and the radius of a circle is 37 cm (use p = 22 / 7). The diameter of the circle is
1. 7 cm
2. 14 cm
3. 33 cm
4. 37 cm
7. The LCM of two multiples of 12 is 1056. If one of the numbers is 132, the other number should be
1. 12
2. 72
3. 96
4. Data inadequate
8. The average of seven results is 5; the average of first three is 3, and that of the last three is 7. The fourth result is
1. 6
2. 5
3. 4
4. 3
9. A man walking at the speed of 4 kmph crosses a square field diagonally in 3 minutes. The area of the field is
1. 20000 sq m
2. 25000 sq m
3. 18000 sq m
4. 19000 sq m
10. The area of a rectangular field is 144 sq m. If the length is increased by 5 m, its area increases by 40 sq m. The length of the field is
1. 12 m
2. 14.4 m
3. 16 m
4. 18 m
11. A, B and C are partners and make a profit of Rs. 4800 which is distributed among them in the ratio 6:5:4. The difference of the amounts A and C received is
1. Rs. 640
2. Rs. 1290
3. Rs. 1280
4. Rs. 1600
12. A, B, & C enter into a partnership with investments in the ratio 3:4:9. If at the end of the year, B's share of profit is Rs. 6175, what is the total profit?
1. Rs. 24300
2. Rs. 24600
3. Rs. 24700
4. Rs. 24100
13. X and Y enter into a partnership. X contributes Rs. 8000 and Y contributes Rs. 10000. At the end of six months they introduce Z, who contributes Rs. 6000. After the lapse of three years, they find that the firm has made a profit of Rs. 9660. Find the share of each.(in Rs.)
1. X-3240, Y-4200, Z-2200
2. X-3360, Y-4400, Z-2100
3. X-3360, Y-4200, Z-2100
4. 3260, Y-4000, Z-2200
14. Umedh Singh and Zorawar Singh invested in a business. They earned some profit which they divided in the ratio 2:3. If Umedh Singh invested Rs. 24, the amount invested by Zorawar Singh was
1. Rs. 36
2. Rs. 16
3. Rs. 30
4. Rs. 48
15. Abdul and Aamir invest respectively Rs. 30000 and Rs. 40000 in a business. Abdul receives Rs. 100 per month out of the profit for running the business and the rest of the profit is divided in proportion to the investments. If in a year Abdul totally receives Rs. 3900, what does Aamir receive?
1. Rs. 3500 2. Rs. 3600
3. Rs. 3900
4. Rs. 4200
16. 7 women and 6 men can do what 4 men and 11 women can do in the same time. 19 women can do the same job in how much time?
1. Same
2. Half
3. One-third
4. Two-third
17. If A can walk a certain distance in 40 days when he takes rest 9 hours each day; how much long will he take to walk the same distance twice as fast and rest twice as long each day?
1. 50 days
2. 45 days
3. 38 days
4. 16 days
18. If 20 men or 25 women or 30 boys can do a piece of work in 16 days by working 10 hours a day, then how many men with 10 women and 18 boys can do 3 ¼ times the same work in 26 days by working 8 hours daily?
1. 35 men
2. 30 men
3. 40 men
4. 48 men
19. Some persons can do a job in 12 days. Two times the number of those persons will do half of that job in
1. 6 days
2. 4 days
3. 12 days
4. 3 days
20. 400 men working 9 hrs a day complete ¼ th of the work in 10 days. The number of additional men, working 8 hrs a day, required to done the remaining work in 20 days is
1. 675
2. 275
3. 250
4. 225
21. 25% of 240 will be how much more than 33.33% of 180?
1. 5
2. 10
3. 6
4. Nil
22. 350% of a number is what percent of 250% of that number?
1. 40%
2. 44%
3. 140%
4. 71%
23. If the length of a rectangle is increased by 20% and the width decreased by 20%, the area of the rectangle will
1. Decrease by 4%
2. Increase by 4%
3. Decrease by 1%
4. Not change at all
24. A shopkeeper increases the price of a commodity by 25% and again increases it by 20%. The net percent increase is
1. 45%
2. 40%
3. 50%
4. 47%
25. The cost of a pant is 60% of the cost of a coat and 300% of the cost of a shirt. If all three cost Rs. 2160, the cost of the shirt will be
1. Rs. 290
2. Rs. 280
3. Rs. 360
4. Rs. 240
26. If sold for Rs. 247.50, an object gives a profit of 12.5%. The cost price is
1. Rs. 210
2. Rs. 220
3. Rs. 224
4. Rs. 225
27. A fruit seller purchases oranges at the rate of 3 for Rs. 5 and sells them at 2 for Rs. 4. His profit in the transaction is
1. 20%
2. 25%
3. 15%
4. 10%
28. A merchant sold his goods for Rs. 75 at a profit percent equal to the cost price. His cost price is
1. Rs. 50
2. Rs. 60
3. Rs. 80
4. Rs. 100
29. A man buys an article at ¾ th of its value and sells it for 20% more than its value. His profit based on the cost is
1. 45%
2. 50%
3. 60%
4. 75%
30. The LCM of numbers 12, 18, & 24 is how much more than their HCF?
1. 66
2. 69
3. 70
4. 72
31. Find the minimum number of square tiles of equal size for the floor of a room which is 1 m 4 dm 7 cm long and 1 m 8 dm 2 cm wide.
1. 250
2. 266
3. 140
4. 145
32. The average of first five prime numbers is
1. 5.40
2. 5.70
3. 5.60
4. 5.80
33. The average weight of 8 men is increased by 1.5 kg when one of them who weighs 65 kg is replaced by a new man. The weight of the new man is
1. 76 kg
2. 76.5 kg
3. 76.7 kg
4. 77 kg
34. A man distributed Rs. 100 equally among his friends. If there had been five more friends, each would have received one rupee less. How many friends did he have?
1. 20
2. 30
3. 40
4. 50
35. In an exam, the average was found to be 50 marks. After detecting computer errors, the marks of 100 candidates had to be changed from 90 to 60 each and the average came down to 45. The total number of candidates who took the exam was
1. 600
2. 700
3. 500
4. 400
Answers
1. 15221 6. 23214 11. 13312 16. 11242 21. 43134 26. 21131 31. 53411

REASONING - MENTAL ABILITY - APTITUDE
1. ‘Captain' is related to a ‘Team' in the same way as ‘Director' is related to

(1) Supervisor (2) Employee

(3) Organisation (4) Union

(5) Customer

2. Find the odd one out of the following options

(1) Aunt (2) Child

(3) Father (4) Niece

(5) Relation

3. Pointing to a photograph of Mahesh, Ram said. "The father of his sister is the husband of my wife's mother". How is Ram related to Mahesh?

(1) Brother (2) Brother-in-law

(3) Father-in-law (4) Data not sufficient

(5) None of these

4. If ‘fork' is called ‘plate', ‘plate' is called 'knife', ‘knife' is called ‘jug', ‘jug' is called ‘glass', ‘glass' is called ‘cup' and ‘cup' is called ‘fork', by what do we cut fruit?

(1) spoon (2) jug

(3) glass (4) saucer

(5) none of these

5. If ‘a' is substituted by 26,'B' by 25 and so on up to ‘Z' which is substituted by 1, what will be the sum of the numbers substituted for the word ‘XRAY'?

(1) 33 (2) 40

(3) 37 (4) 73

(5) None of these

6. In a certain code COIMBATORE is written as DPJNCBUPSF. How is INDORE written in that code?

(1) JOENQF (2) JMCPQD

(3) JOEPSF (4) HMCNQD

(5) None of these

7. Geeta is elder to Seeta but not to Deepa. Gayatri is younger than Deepa. No one is elder to Fatima. Who is youngest of them all?

(1) Seeta (2) Geeta

(3) Gayatri (4) Data not sufficient

(5) None of these

8. Raman is sitting to the immediate left of Harry but not next to Kamal. Mahesh is sitting to the right of Kamal. If the four friends are sitting in a circle who is sitting to the immediate right of Harry?

(1) Mahesh (2) Kamal

(3) Raman (4) Harry

(5) Cannot be determined

9. How many three letter meaningful English words can be formed from the word NOTE beginning with ‘T' and without repeating any letter?

(1) Three (2) One

(3) Two (4) None

(5) None of these

Directions (11-15): Answer question 11 to 15 based on the following sequence:

A $ B # 9 G 3D K « M ? C Q 2 X 7 P 5 U 8 I 4 Y ə J

11. How many elements in the above arrangement are both immediately preceded and immediately followed by a number?

(1) One (2) Two

(3) Three (4) Five

(5) None of these

12. Which of the following will be the fifteenth element from the left end if all the numbers are arranged in descending order from left to right, keeping the position of the other elements in arrangement un-changed?

(1) 5 (2) 4

(3) 7 (4) 8

(5) None of these

13. How many letters in the above arrangement are immediately followed by a symbol?

(1) Two (2) Five

(3) Four (4) Three

(5) None of these

14. Which of the following will be eighth to the left of the twelfth from the left end of the arrangement?

(1) # (2) 7

(3) U (4) 9

(5) None of these

15. Four of the following five are alike in a certain way based on their position in the above arrangement and so form a group. Which is the one that does not belong to that group?

(1) G$M (2) K9Q

(3) ?D7 (4) 2MU

(5) PCI

16. In a certain code language' In ba pe' means ‘he has won','le ki ba' means ‘she has lost' and ‘in se pe' means ‘he always won'. Which word in that language means ‘he'?

(1) in (2) pe

(3) se (4) Data not sufficient

(5) None of these

17. X is Y's brother. S is T's mother and X's aunt. How is T related to X?

(1) Sister (2) Cousin

(3) Aunt (4) Cannot be determined

(5) None of these

18. If the letters of the word OBSERVANT are interchanged, such that the first becomes ninth, second becomes eighth, and so on, and the position of the fifth letter remains unchanged then what will be the new arrangement of letters?

(1) TNAVERSBO (2) TNVARESBO

(3) NTAVERSBO (4) VANTRESBO

(5) None of these

19. If 1 is coded as Ś, 5 is coded as %, 6 is coded as «, 3 is coded as +, 7 is coded as # and 4 is coded as ? What will be the correct form of the number 435671?

(1) ? + % « # Ś (2) ? + % Ś # «

(3) ? + « % # Ś (4) Ś # « % + ?

(5) None of these

20. Which of the following have the same relationship as BREAD:DBARE?

(1) SWORN: NSOWR (2) FUNDS: FSDUN

(3) GLAZE : EGZAL (4) LOWER: RLEWO

(5) None of these

Directions (21-25): Read the following information and attempt the given questions:

Six executive Aman, Bindu, Deepa, Jitu, Kamal and Priyanka have to advertise four products i.e. soap, watches, computers and chocolates on 3 different channels, i.e. Go, Come and Fun either alone or in pairs. An executive can visit only one channel and advertise only one product. No more than two executives can advertise on a channel.

(i) Bindu and Jitu both visit the same channel but advertise different products.

(ii) Aman who visits ‘Go' advertises neither soap nor computers.

(iii) Kamal does not advertise chocolates.

(iv) No girl advertises soap.

(v) The two executives who advertise chocolates visit Spice

(vi)

21. Who advertises watches?

(1) Deepa (2) Kamal

(3) Aman (4) Priyanka

(5) None of these

22. Which of the following Channel-product pairs in definitely incorrect?

(1) Go-watch (2) Come-computer

(3) Go-soap (4) Come-soap

(5) Come-watch

23. Which channel does Kamal visit?

(1) Go (2) Fun

(3) Come (4) Cannot be determined

(5) None of these

24. If Bipasha advertises computers which of the following must be true?

(1) Jitu advertises soap (2) Jitu advertises watches

(3) Kamal advertises computers (4) Kamal works for Fun

(5) None of these

25. What will Jitu advertise?

(1) Chocolates (2) Watches

(3) Computers or watches (4) Cannot be determined

(5) None of these

26. Swaroop and Simple want to attend a seminar together between 9 a.m. to 5 p.m. on Friday. Simple cannot leave till after her lunch break which begins at 1.30 p.m. Swaroop is free after her meeting which ends at noon. For how many hours can the two of them attend the seminar?

(1) 3 ½ hours (2) 2 ½ hours

(3) 4 ½ hours (4) Cannot be determined

(5) None of these

27. How many pairs of letters are there in the word ANSWER each of which has as many letters between them in the word as there are in the English language?

(1) One (2) Two

(3) Four (4) Three

(5) None of these

28. Find the odd one out

(1) 2 (2) 7

(3) 11 (4) 13

(5) 9

29. If all the letters in the word MERCIFUL are rearranged in alphabetical order and substituted by the alphabet preceding them in the English alphabet what will be the new arrangement of letters?

(1) BDHEKLQT (2) BDEHKLQT

(3) BDEHLKQT (4) BDEJMLQT

(5) None of these

30. Out of 38 families in a housing society 5 subscribe to Hindi news-papers alone, 12 subscribe to both Hindi and Marathi newspapers. Find the number of Maranthi news-paper subscribers.

(1) 9 (2) 21

(3) 17 (4) Cannot be determined

(5) None of these

Directions (31-35): Below are given letters and their numeric codes. Below that are given some conditions to be followed while codifying the given letter groups in each question. Study them and find out the correct numeric coded form of the given letter group in each question. If none of the coded forms is correct, your answer will be (5) i.e. ‘None of these'.

	Letters
	M
	Q
	I
	N
	E
	Y
	U
	G
	R

	Numeric Codes
	2
	5
	3
	7
	1
	8
	4
	6
	9


Conditions: 
(i) If the first and last letters are vowels both are to be coded as Ś.

(ii) If the second letter is a vowel and the third letter is a consonant a single code is to be used and both are to be coded jointly as %.

(iii) If the first letter is a consonant and the last letter is a vowel both are to be coded as?

31. ENIMY

(1) 1%28 (2) ?732?

(3) 17328 (4) ?7328

(5) None of these

32. GENIR

(1) ?173? (2) 6%39

(3) 6%79 (4) 61739

(5) None of these

33. QUERI

(1) 5%93 (2) ?413?

(3) ?4139 (4) ?419?

(5) None of these

34. EINUM

(1) 1%72 (2) 0%42

(3) 1374? (4) 1%43

(5) None of these

35. UNGRE

(1) Ś769 Ś (2) 4769 Ś

(3) 47691 (4) Ś7691

(5) None of these

Directions (36-40): In each question below are two statements followed by two conclusions numbered I and II. You have to take the two given statements to be true even if they seem to be at variance from commonly known facts and then decide which of the given conclusions logically follows from the two statements disregarding commonly known facts.

Give answer (1) if only conclusion I follows.

Give answer (2) if only conclusion II follows.

Give answer (3) if either conclusion I or II follows.

Give answer (4) if neither conclusion I nor II follows.

Give answer (5) if both conclusions I or II follow.

36. Statements: Some pencils are lead. All lead are ink

Conclusions:
I. Some ink are pencils.

II. All ink are lead.

37. Statements: Some ovens are refrigerator. Some refrigerators are ACs.

Conclusions:
I. Some ACs are ovens.

II. No. AC is oven.

38. Statements: All planes are birds. All birds are clouds.

Conclusions:
I. Some planes are clouds.

II. Some clouds are birds.

39. Statements: Some sweets are salt. No salt in spice.

Conclusions:
I.. Some sweets are spice.

II. No spice is salt.

40. Statements: Some papers are plastics. All papers are clothes.

Conclusions:
I. Some plastics are clothes.

II. Some plastics are papers.

Directions (41-45): Each of the following questions below consists a question and two statements numbered I and II given below it. You have to decide if the data provided in the statements are sufficient to answer the question. Read both statements and:

Give answer (1) if the data in statements I alone is sufficient to answer the question while the data in statement II is not sufficient to answer the question.

Give answer (2) if the data in statement II alone is sufficient to answer the question, while the data in statement I alone is not sufficient to answer the question.

Give answer (3) if the data either in statement I alone or in statement II alone is sufficient to answer the question.

Give answer (4) if the data in both the statements I and II are not sufficient to answer the question.

Give answer (5) if the data in both the statements I and II together are necessary to answer the question.

41. How is ‘cricket' written in a code language?

I. ‘Dinesh play cricket' is written as ‘do si ha'.

II. ‘play cricket now' is written as ‘ha si ma'.

42. Who is the oldest among L, M, N, O,P?

I. P is older than M and N but not O.

II. L is older than O.

43. When is Rahul's birthday?

I. Rahul and Shivani are twins.

II. Rahul was born on the last day of February in a leap year.

44. What is the strength of the class?

I. Shekhar stood 28 ranks below the top ranker and Mahesh who stood 5 ranks below him stood last.

II. Jayesh was 9 ranks below Ramesh who stood 27th from the top.

45. How far does Shruti live from the school?

I. Shruti has to cycle 3 kms. To her friend Mina's house which is 4 kms. From thee school.

II. Gitanjali lives exactly opposite the school and walks 2 kms. to reach Shruti's house.

Directions (46-50): The following questions are based on the five three digit numbers given below:

972 526 487 359 251

46. If the positions of the firs and second digits are interchanged which of the following will be third if they are arranged in ascending order?

(1) 359 (2) 972

(3) 526 (4) 487

(5) 251

47. If 2 is added to the sum of the digits of each of the above numbers how many will be multiples of 5?

(1) None (2) One

(3) Two (4) Three

(5) None of these

48. If 1 is subtracted from the last digit of each of the above numbers the sum of the digits of how many of them are prime numbers?

(1) None (2) Two

(3) One (4) Three

(5) All five

49. If the digits in each of the above numbers are written in reverse order which will be the second highest number?

(1) 251 (2) 359

(3) 487 (4) 526

(5) 972

50. If the positions of the digits of each of the numbers are interchanged such that the first becomes second, second becomes third and third becomes firs, which, of the following will be the highest?

(1) 972 (2) 526

(3) 487 (4) 251

(5) 359

Answer Key for Mental Aptitude Reasoning
	1. (3)
	2. (5)
	3. (2)
	4. (2)
	5. (2)

	6. (3)
	7. (4)
	8. (2)
	9. (1)
	10. (1)

	11. (4)
	12. (3)
	13. (2)
	14. (1)
	15. (5)

	16. (4)
	17. (2)
	18. (5)
	19. (1)
	20. (5)

	21. (3)
	22. (4)
	23. (1)
	24. (2)
	25. (3)

	26. (1)
	27. (2)
	28. (5)
	29. (2)
	30. (5)

	31. (3)
	32. (2)
	33. (4)
	34. (5)
	35. (1)

	36. (1)
	37. (3)
	38. (5)
	39. (2)
	40. (5)

	41. (4)
	42. (5)
	43. (2)
	44. (1)
	45. (3)

	46. (1)
	47. (4)
	48. (3)
	49. (3)
	50. (5)


51. 832.456-539.982-123.321=?

(1) 196.153

(2) 149.153

(3) 169.153

(4) 176.135

(5) None of these

52. ? x 19 = 7828

(1) 411

(2) 412

(3) 413

(4) 414

(5) 415

53. 236.69+356.74 = 393.39 + ?

(1) 200.04

(2) 201.04

(3) 200.14

(4) 202.14

(5) 203.04

54. 734 / ? = 91.75

(1) 8

(2) 6

(3) 4

(4) 10

(5) None of these

55. x (35 x 15 x 10) / (25 x 2) = ?

(1) 105

(2) 115

(3) 70

(4) 35

(5) None of these

56. 5938+4456+2891 = ?

(1) 15255

(2) 14285

(3) 13285

(4) 12385

(5) None of these

57. 859.05 + 428.89+663.17=?

(1) 1585.91

(2) 1286.94

(3) 1950.02

(4) 1950.11

(5) 1951.01

58. 434 x 645=?

(1) 27840

(2) 297930

(3) 279903

(4) 279930

(5) None of these

59. 7 x ? =29.05

(1) 4.05

(2) 4.15

(3) 3.95

(4) 4.28

(5) None of these

60. 725 / 25 - 13 = ?

(1) 16

(2) 29

(3) 12

(4) 18

(5) None of these

61. (558 x 45) / (18 x 45) = ?

(1) 314

(2) 313

(3) 312

(4) 311

(5) None of these

62. 806 / 26 =?

(1) 30

(2) 32

(3) 34

(4) 36

(5) None of these

63. 559 + 995 = ? x 16

(1) 92.05

(2) 95.25

(3) 93.15

(4) 94.35

(5) None of these

64. ((337 +146) x 8)=?

(1) 3884

(2) 1515

(3) 3864

(4) 1505

(5) 3846
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66. 4758-2782-1430=?

(1) 356

(2) 396

(3) 486

(4) 546

(5) None of these

67. 9.1 x 7.5 x 6.2 =?

(1) 423.25

(2) 68.25

(3) 593.775

(4) 472.5

(5) None of these

68. [image: image7.png]/441 + /676

7




(1) 43

(2) 45

(3) 47

(4) 49

(5) 51

69. [image: image8.png]10 + /7 = 87




(1) 1444

(2) 1442

(3) 1448

(4) 1456

(5) 1460

70. [image: image9.png](8)°+164+4 _.
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(1) 25

(2) 64

(3) 8

(4) 7.5

(5) None of these

71. 248 of [image: image10.png]


+110 of 20% = ?

(1) 192

(2) 202

(3) 212

(4) 239

(5) 242
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(1) 1511

(2) 1531

(3) 1515

(4) 1553

(5) 1521

74. 484 of [image: image18.png]


+ 366 of [image: image19.png]


= ?

(1) 663

(2) 844

(3) 668

(4) 848

(5) 666

75. 280% of 460 =?

(1) 1188

(2) 1284

(3) 1288

(4) 1280

(5) None of these

76. Which of the following is equal to 30 x 246?

(1) 118 x 13+209 x 42

(2) 174 x 10+222 x 19

(3) 173 x 12+221 x 24

(4) 169 x 16+167 x 50

(5) None of these

77. The cost of 9 kgs. of sugar is Rs. 279. What is the cost of 153 kgs. of sugar?

(1) Rs. 3.377

(2) Rs. 4.473

(3) Rs. 4.377

(4) Rs. 4.743

(5) Rs. 4.347

78. A bus travels at the speed of 49 kmph. and reaches its destination in 7 hours. What is the distance covered by the bus?

(1) 343 km

(2) 283 km

(3) 353 km

(4) 245 km

(5) 340 km

79. [image: image20.png]-
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th of a number is 82. What is the number?

(1) 410

(2) 820

(3) 420

(4) 220

(5) None of these

80. What is the least number to be added to 1500 to make it a perfect square?

(1) 20

(2) 21

(3) 22

(4) 23

(5) None of these

81. The sum of three consecutive integers is 39. Which of the following is the largest among the three?

(1) 12

(2) 15

(3) 13

(4) 16

(5) None of these

82. Find the average of the following set of scores:

118, 186, 138, 204, 175, 229

(1) 148

(2) 152

(3) 156

(4) 160

(5) 175

83. A banana costs Rs. 2.25 and an apple costs Rs. 3.00. What will be the total cost of 4 dozen of bananas and 3 dozen of apples?

(1) Rs. 216

(2) Rs.108

(3) Rs. 189

(4) Rs. 225

(5) Rs. 162

84. How many pieces of 8.6 metres long cloth can be cut out of a length of 455.8 metres cloth?

(1) 43

(2) 48

(3) 55

(4) 53

(5) 62

85. The product of two successive numbers is 3192. What is the smallest number?

(1) 59

(2) 58

(3) 57

(4) 56

(5) None of these

86. What is 184 times 156?

(1) 28704

(2) 29704

(3) 30604

(4) 27604

(5) None of these

87. What approximate value should come in place of the question mark (?) in the following question?
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(1) 1375

(2) 1370

(3) 1372

(4) 1368

(5) 1365

88. If an amount of Rs. 15,487 is divided equally among 76 students, approximately how much amount will each student get?

(1) Rs. 206

(2) Rs. 210

(3) Rs. 204

(4) Rs. 218

(5) Rs. 212

89. What should come in place of the question mark (?) in the following number series?

6417 5704 4991 4278 3565 2852 ?

(1) 2408

(2) 2426

(3) 7310

(4) 7130

(5) 2139

90. Rinku and Pooja started a business initially with Rs. 5,100 and Rs. 6,600 respectively. If the total profit is Rs. 2.730 what is Rinku's share in the profit?

(1) Rs. 1,530

(2) Rs. 1,540

(3) Rs. 1,200

(4) Rs. 1,180

(5) None of these

91. 25% of the total cost of a plot of area 280 sq. feet is Rs. 1,32,370. What is the rate per sq. ft. of the plot?

(1) Rs. 2,091

(2) Rs. 1,981

(3) Rs. 1,991

(4) Rs. 1,891

(5) None of these

92. If the difference between a number and one fifth of it is 84, what is the number?

(1) 95

(2) 100

(3) 105

(4) 108

(5) 112

93. The respective ratio of the ages of Richa and Shelly is 5: 8. The ratio of their ages 10 years hence would be 7: 10 respectively. What is the present age of Shelly?

(1) 45 years

(2) 40 years

(3) 35 years

(4) 30 years

(5) 25 years

94. A student scores 64% marks in 6 papers of 150 marks each. He scores 25% of his total obtained marks in Hindi and English together. How much is his total score for both these papers?

(1) 120

(2) 124

(3) 140

(4) 144

(5) 150

95. When the original price of toy was increased by 25%, the price of one dozen toys was Rs. 300. What was the original price of one toy?

(1) Rs. 24

(2) Rs. 29

(3) Rs. 30

(4) Rs. 15

(5) Rs. 20

96. If 3x + 5y = 44 and 10x -2y = 16, what is the value of x?

(1) 7

(2) 3

(3) 5.5

(4) 6.5

(5) None of these

97. 15 persons complete a job in 3 days. How many days will 10 persons take to complete the same job?

(1) 2

(2) 5

(3) [image: image23.png]
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98. The owner of an electronics shop charges his customer 25% more than the cost price. If a customer paid Rs. 11,500 for a television set, then what was the cost price of the television set?

(1) Rs. 9,200

(2) Rs. 7,200

(3) Rs. 8,600

(4) Rs. 9,800

(5) Rs. 10,000

99. Sumit obtained a total of 1012 marks out of 1150 in an examination. What is his percentage in the examination?

(1) 86

(2) 88

(3) 84

(4) 90

(5) None of these

100. What should replace both the question marks in the following equation?
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(1) 126

(2) 124

(3) 130

(4) 132

(5) 136

ANSWERS
51. (3), 52. (2), 53. (1), 54. (1), 55. (1), 56. (3), 57. (4), 58. (4), 59. (2), 60. (1)
61. (5), 62. (5), 63. (2), 64. (3), 65. (2), 66. (4), 67. (1), 68. (3), 69. (1), 70. (4)
71. (4), 72. (2), 73. (5), 74. (3), 75. (3), 76. (3), 77. (4), 78. (1), 79. (2), 80. (2)
81. (5), 82. (5), 83. (1), 84. (4), 85. (4), 86. (1), 87. (3), 88. (3), 89. (5), 90. (5)
91. (4), 92. (3), 93. (2), 94. (4), 95. (5), 96. (2), 97. (5), 98. (1), 99. (2), 100. (1)

1. In a certain code ROPE is written as $3%6 and RITE is written as $4#6. How is PORT written in that code?

(1) %4$#

(2) $3%#

(3) $64%

(4) %3$#

(5) None of these

2. How many such pairs of letters are there in the word KNIGHT, each of which has as many letters between them in the word as they have in the English alphabet?

(1) None

(2) One

(3) Two

(4) Three

(5) More than three

3. Pointing to a photograph Nikita said ‘She is the only grad daughter of my grandmother's daughter'. How is the girl in photograph related to Nikita?

(1) Sister

(2) Niece/ daughter

(3) Aunt

(4) Cannot be determined

(5) None of these

4. Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to the group?

(1) Pineapple

(2) Guava

(3) Grapes

(4) Papaya

(5) Pear

5. If the word STABLE all the consonants are replaced by the previous letter and all the vowels are replaced by the next letter which letter will be third from the left end?

(1) S

(2) B

(3) A

(4) K

(5) None of these

6. In a certain code HOUSE is written as FTVPI, how is CHAIR written in that code?

(1) DIBJS

(2) SBJID

(3) SHBGD

(4) SJBID

(5) None of these

7. Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to the group?

(1) FH

(2) KM

(3) PR

(4) CE

(5) JM

8. If ‘ P   Q' means ‘P is wife of Q', ‘P+Q' means ‘P is father of Q' and ‘P   Q' means ‘P is sister of Q' then in G H +R D, how is G related to D?

(1) Cannot be determined

(2) Mother

(3) Niece

(4) Aunt

(5) None of these

9. If the digits of the number 5726489 are arranged in ascending order, how many digits will remain at the same position?

(1) None

(2) One

(3) Two

(4) Three

(5) More than three

10. Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to the group?

(1) 17

(2) 19

(3) 23

(4) 29

(5) 27

11. How many meaningful words can be made from the letters AEHT, using each letter only once?

(1) None

(2) One

(3) Two

(4) Three

(5) More than three

' means ‘x', $ means ‘+', # means ‘ ' and ‘©' means ‘-‘ then what is(12. If ‘ the value of

360 # 24$ 56« 5© 48?

(1) 253

(2) 242

(3) 247

(4) 285

(5) None of these

13. If blue means pink, pink means green, green means yellow, yellow means red and red means white then what is the colour of turmeric?

(1) green

(2) yellow

(3) red

(4) pink

(5) None of these

14. If it is possible to make a meaningful word from the second, the third, the tenth and the eleventh letters of the word PASSIONATELY using each letter only once, second letter of that word is your answer. If no such word can be formed your answer is X and if more than one word can be formed your answer is Y.

(1) A

(2) E

(3) L

(4) X

(5) Y

15. In a row of children facing north Manish is fourth to the left of Suresh who is tenth from the left end. Nisha is second to the right of Suresh and eighth from the right end of the row. Total how many children are there in the row?

(1) 19

(2) 20

(3) 21

(4) 18

(5) None of these

Directions (16-20): In these questions symbols ©, #, «, $ and @ are used with different meanings as follows:

‘A © B' means ‘A is smaller than B'

‘A # B' means ‘A is either smaller than or equal to B'

‘A « B' means ‘A is greater than B'

‘A $ B' means ‘A is either greater than or equal to B'

‘A @ B' means ‘A is neither smaller than nor greater than B'

In each of the following questions assuming the given statements to be true, find out which of the two conclusions I and II given below them is/ are definitely true

Give answer (1) if only conclusion I is true.

Give answer (2) if only conclusion II is true.

Give answer (3) if either conclusion I or conclusion II is true.

Give answer (4) if neither conclusion I nor conclusion II is true.

Give answer (5) if both conclusions I and II are true.

16. Statements: V#S, S©L, L©J

Conclusions: I. V © L

II. S © J

17. Statements: M#R, R©J, J#H

Conclusions: I. M #H

II. R © H

18. Statements: H$F, F@G, G«M

Conclusions: I. H «M

II. H «G

19. Statements: R©J, J «T,,T # L

Conclusions: I. R @ T

II. J @ l

20. Statements: W@T, T$K, K «F

Conclusions: I. W $ K

II. W @ K

Directions (21-25): In each question below there are three statements followed by two conclusions numbered I and II. You have to take the three given statements to be true even if they seem to be at variance from commonly known facts and then decide which of the given conclusions logically follows from the three given statements disregarding commonly known facts. Then decide which of the answers (1), (2), (3), (4) and (5) is the correct answer and indicate it on the answer sheet.

Give answer (1) if only conclusion I is follows.

Give answer (2) if only conclusion II is follows

Give answer (3) if either conclusion I or II follows.

Give answer (4) if neither I nor II is follows.

Give answer (5) if both I and II follow.

21. Statements:

Some pens are books.

All books are pencils.

All pencils are jars.

Conclusions:

I. All books are jars.

II. Some pens are pencils.

22. Statements:

Some bowls are spoons

Some spoons are forks

All forks are plates.

Conclusions:

I. Some bowls are forks.

II. Some spoons are plates.

23. Statements:

Some bottles are jars.

All jars are buckets.

All buckets are tanks.

Conclusions:

I. All jars are tanks.

II. Some buckets are tanks.

24. Statements:

Some phones are mobiles.

Some mobiles are computers.

Some computers are keys.

Conclusions:

I. Some phones are keys.

II. Some computes are phones.

25. Statements:

All papers are files.

Some files are folders.

All folders are bags.

Conclusions:

I. Some files are bags.

II. Some papers are folders.

Directions (26-30): Each of the questions below consists of a question and two statements numbered I and II are given below it. You have to decide whether the data provided in the statements are sufficient to answer the question. Read both the statements and

Give answer (1) if the data is Statement I alone are sufficient to answer the question, while the data in Statement II alone are not sufficient to answer the question.

Give answer (2) if the data in Statement II alone are sufficient to answer the question, while the data in Statement I alone are not sufficient to answer the question.

Give answer (3) if the data in Statement I alone or in Statement II alone are sufficient to answer the question.

Give answer (4) if the data in both the Statement I and II are not sufficient to answer the question.

Give answer (5) if the data in both the Statement I and II together are necessary to answer the question.

26. Lalita is in which direction with respect to Sangita?

I. Lalita is to the East of Prabha who is to the South of Sangita.

II. Vinita is to the North of Lalita who is to the East of Sangita.

27. What is the code for ‘Play' in the code language?

I. In the code language ‘play and dance' is written as ‘ka to pe'

II. In the code language enjoy the dance' is written as ‘pe jo ra'.

28. How many children are there in the class?

I. Vandana's rank in the class is five ranks below Nandini who is twenty fifth from the bottom.

II. Nandini's rank is seventeenth from the top.

29. Who is tallest among Neeta, Sudha, Radha, Maya and Geeta?

I. Radha is shorter than Neeta and Sudha but not shorter than Maya and Geeta.

II. Neeta is not the tallest.

30. How many sons does Ramesh have?

I. F is sister of H who is son of Ramesh.

II. R is brother of H.

Directions (31-35): These questions are based on the following letter / number/ symbol arrangement . Study it carefully and answer the questions that follow:

5 D G E « 7 9 $ F 1 6 R % L I A J 3 B # 4 @ K P 8 U M 2

31. Four of the following five are alike in a certain way on the basis of their positions in the above arrangement and so form a group. Which is the one that does not belong to the group?

(1) $9F

(2) R6%

(3) 8PU

(4) #B4

(5) 3BJ

32. If all the symbols are removed from the above arrangement which element will be third to the left of thirteenth from the left?

(1) L

(2) R

(3) 6

(4) I

(5) None of these

33. What will come in place of the question mark (?) in the following series based on the above arrangement?

EDH 9 « 7 I$F ?

(1) 6RI

(2) %R6

(3) R16

(4) %6R

(5) None of these

34. Which element will be fifth to the right of ninth from the right end if all the numbers are removed from the above arrangement?

(1) K

(2) @

(3) P

(4) #

(5) None of these

35. How many such numbers are there in the above arrangement each of which is immediately followed by a consonant but not immediately preceded by a vowel?

(1) None

(2) One

(3) Two

(4) Three

(5) More than three

Directions (36-40): These questions are based on the basis of following information. Study it carefully and answer the questions.

Eight executives J, K, L, M, N, O, P, and Q are sitting around a circular table for a meeting. J is second to the right of P who is third to the right of K. M is second to the left of O who sits between P and J, L is not a neighbour of K or N.

36. Who is to the immediate left of L?

(1) Q

(2) O

(3) K

(4) N

(5) None of these

37. Who is to the immediate left of K?

(1) N

(2) J

(3) Q

(4) Cannot be determined

(5) None of these

38. Which of the following is the correct position of N?

(1) Second to the right of K

(2) To the immediate left of K

(3) To the immediate right of M

(4) To the immediate right of K

(5) None of these

39. Who is third to the right of P?

(1) L

(2) J

(3) Q

(4) N

(5) None of these

40. Which of the following groups of persons have the first person sitting between the other two?

(1) PJO

(2) OPJ

(3) OPM

(4) MPO

(5) None of these

Directions (41-50): In each of the questions given below which one of the five answer figures on the right should come after the problem figures on the left, if the sequence were continued?
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Answers for Reasoning (Mental Aptitude) Solved Sample Question Paper:
1. (4), 2. (3), 3. (2), 4. (3), 5. (2), 6. (4), 7. (5), 8. (2), 9. (4), 10. (5), 11. (3), 12. (3), 13. (3), 14. (5), 15. (1), 16. (5), 17. (2), 18. (1), 19. (4), 20. (1), 21. (5), 22. (2), 23. (5), 24. (4), 25. (1), 26. (3), 27. (4), 28. (5), 29. (5), 30. (5), 31. (5), 32. (2), 33. (4), 34. (1), 35. (2), 36. (5), 37. (3), 38. (4), 39. (1), 40. (2), 41. (3), 42. (4), 43. (1), 44. (5), 45. (1), 46. (4), 47. (5), 48. (1), 49. (2), 50. (3)
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The OSCAR awards for 2010 were announced on March 07, 2010 in a ceremony held at Kodak Theatre, Hollywood. Officially the awards should be called the 82nd Academy Awards.

There was a tough competition between “Avtar” and “The Hurt Locker”. Avtar failed to win the maximum awards and could only manage three against six of The Hurt Locker. This reminded me of Slumdog Millionaire that won 8 awards in OSCAR Awards 2009.

Best Picture
The Hurt Locker

Best Director
Kathryn Bigelow (for The Hurt Locker)

Best Actor
Jeff Bridges (for Crazy Heart, as Otis "Bad" Blake)

Best Actress
Sandra Bullock (for The Blind Side, as Leigh Anne Tuohy)

Best Supporting Actor
Christoph Waltz (for Inglourious Basterds, as Col. Hans Landa)

Best Supporting Actress
Mo'Nique ( for Precious: Based on the Novel "Push" by Sapphire, as Mary Lee Johnston)

Best Original Screenplay
The Hurt Locker – Mark Boal

Best Adapted Screenplay
Precious: Based on the Novel "Push" by Sapphire – Geoffrey Fletcher from Push by Sapphire

Best Animated Feature
Up – Pete Docter

Best Foreign Language Film
El Secreto de Sus Ojos (Argentina) in Spanish – Juan José Campanella

Best Original Score
Up – Michael Giacchino

Best Original Song
"The Weary Kind (Theme from Crazy Heart)" from Crazy Heart – Ryan Bingham and T-Bone Burnett

Some Fact about Oscars 2010:
1. The Hurt Locker was the most successful film winning 6 OSCAR awards. It was followed by Avatar with 3 awards.

2. Avatar and The Hurt Locker received maximum number of nominations (9 each)

3. Inglourious Basterds was the second most nominated film (8 nominations)

4. Avatar was director James Cameron's first feature film since Titanic in 1997 which won a record-tying 11 Oscars.

5. The Hurt Locker’s Director Kathryn Bigelow is the first woman to win the Academy Award for Best Picture and Academy Award for Best Director. She is the second American woman to be nominated for the second award, the other being Sofia Coppola for Lost in Translation in 2003.
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